CHESS   Sat 2  April  2005                                 David  Ellis  9276 1822  /  openfile@bigpond.com      2

April has just begun and readers may be aware I tend to include a somewhat unusual problem at this time of the year.  I saw the following in Shaun Press’s Christmas Quiz in Australian Chess.  White to play and mate in one.  Want a clue?  Look under the game.
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In the first round of the Kingsley Open, played over the Easter break (results next week), I had a long and somewhat fortunate win against Mat Garcia.  After discussing the game we both went home to look up analysis & games on a rather obscure line in the Vienna:  1 e4, e5  2 Bc4, Nc6  3 Nc3, Bc5  4 Qg4 (hitting the unprotected g7 pawn but putting the queen in possible attack from ...d5 which would also attack the bishop on c4) 4...Qf6 (defending & counter attacking f2) 5 Nd5! Qxf2+  6 Kd1, Kf8  7 Nh3.  Mat now played 7...h5 getting a good game.  Santasiere’s book on the Vienna gave 7...Qd4 (Mieses-Tchigorin 1906) which  places the queen in a risky position.  Rather than play the very double edged 4 Qg4 White could opt for 4 d3, preparing f4:



                  Rudolf  Spielmann  -  Paul  Johner



                      Vienna 1908:  Vienna Game



 1    e4  
e5  


 2     Nc3
Nc6



 3    Bc4
Bc5  


 4     d3  
d6




 5    f4  
Nf6  


 6     f5  
Na5(a)



 7    Qf3(b)  
c6  


 8     g4  
h6



 9    h4  
b5  


10    Bb3  
Nxb3



11   axb3  
h5  


12    gxh(c)  
Nxh5



13   Nge2  
Qb6(d)  

14    Ng3  
Nf6



15   Bg5  
Bb7  


16    h5  
Nh7



17   Bd2  
0-0-0 


18    h6!  
g6(e)



19   0-0-0 
Rhg8  


20    fxg  
fxg



21   Rdf1  
Kb8  


22    Qf7! 
Rh8



23   Qxg6!! 
Rdg8  


24    Qg7! 
Bc8(f)



25   Nf5  
Bxf5  


26    Rxf5  
Bb4(g)



27   Kb1  
Bxc3  


28    bxc3  
Nf8



29   Rhf1  
Ng6  


30    Qd7(h)  
Rd8



31   Qe6  
Nf4  


32    Bxf4  
exf4



33   R5xf4  
Qc5  


34    Rf7  
Qg5



35   Rf8!(i)  
Qc5  


36    Qe7  
resigns(j)      

  


CLUE:  in assessing a position one usually notes the material each side has.

a)  Black must counter White’s kingside agression with a pawn advance on the queenside or in the centre. 6...Nd4 is the alternative.

b)  White is unworried about 7...Nxc4  8 dxc4 as this would reinforce his control of d5 & b5.

c)  Not 12 g5 allowing Black to anchor his knight on g4.

d)  The queen would be better placed on c7.

e)  18...gxh allows White to double rooks quickly on the open h file.

f)  If 24...Rxg7  25 hxg7 will cost Black considerable material loss.

g)  Better 26...Qd8 getting the queen back to assist in the defence.

h)  After being under attack for 5 moves the queen finally moves.

i)  Elegantly saving his passed pawn – 35...Rhxf8  36 Rxf8+, Rxf8  37 Qxd6+.

j)  After 36...Rdxf8  37 Rxf8+, Rxf8  38 Qxf8+ and the h pawn queens.

The next weekender is the Perth Open on April 9/10 to be held at the Wanneroo Recreation Centre, Scenic Drive, Wanneroo, with total prizes of over $1600.  Rounds 1-4 Sat 9 April 10am – 5.30pm, rounds 5-7 Sun 10 April 11am 5.30pm.  Non CAWA members are welcome. Enquiries Norbert Muller 9409 9579 (h).

SOLUTION:  A piece count reveals that Black has 9 pawns, an impossibility. Therefore you have to remove one pawn – any pawn – and there is a mate in one – test it!

